4. IRILF—BER (Version 0: 2020.11.12)

J ~OE
1J (Z3LF—) 1N =1J
leV (Z3L¥—) (1eV) = 1.6021766 x 10~ J
1kg (H&) (1kg)c? = 8.987552 x 106 ]
1Hz (FEHO (1Hz)h = 6.626070 x 10734 ]
lem™ =10°m™" (%)  (Lem™')he = 1.986446 x 10723 ]
1K (HsehigL ) (1K)kp = 1.380649 x 10722 ]

1T (BREE) (1 T)up = 9.274010 x 1072*J

c = 2.99792458 x 108 m/s (EZhDH)

h = 6.62607015 x 10734 J.s (75 v 7 EH)
kp = 1.380649 x 10723 J/K (KLY < V&)
pup = 9.274010J/T (R—T+¥)

eV N
1J (ZHLF—) (1J) = 6.241509 x 108 eV
leV (V¥ —) (leV)=1eV
1kg (E#) (1kg)c? = 5.609589 x 10%° eV
1Hz (A (1Hz)h = 4.135668 x 10~ 19 eV
lem™' =10°m™" (HH) (lem ')he = 1.239842 x 10 eV
LK s ) (1K)kp = 8.617333 x 10 ° eV
1T (R (1T)us = 5.788382 x 10™° eV

kg N
1J (ZxL¥—) 1J)/c® = 1.112650 x 10~ " kg
leV (T3 V¥ —) 1eV)/c? = 1.782662 x 107 3¢ kg
1kg (Hf&) 1kg) = 1kg

lem ' =102m™! %) (lem Yh/c=2210219 x 10" * kg
1K (M) 1K)kp/c® = 1.536179 x 107" kg

(
(
(
1Hz (&350 (1Hz)h/c* = 7.372497 x 1075 kg
(
(
1T (RREE) (1T)us/c® =1.031873 x 10" kg




(Version 0: 2020.11.12)
Hz ~OHE

1J (ZHLF—) (1J)/h = 1.509190 x 10%* Hz
leV (Zx V¥ —) (1eV)/h = 2.417989 x 10'* Hz
1kg (B#H) (1kg)c?/h = 1.356392 x 10°° Hz
1Hz (ABED (1Hz) = 1Hz

lem™ =10°m™ (%) (1em™')e = 2.997925 x 10'° Hz
1K (MiseEs) (1K)k/h = 2.083662 x 10'° Hz
1T (HHREE) (1 T)us/h = 1.399624 x 10'° Hz

cm™ ! =10°m~! N

1] (ZHLF—) (1J)/hc = 5.034117 x 10*?2 cm™*
leV (ZX ¥ —) (1eV)/hc = 8.065544 x 103cm
1kg (E#H) (1kg)c/h = 4.524438 x 10%° cm

1Hz (ARED (le)/c =3.335641 x 10" em ™!
lem™ =10°m™" (%)  ( !

1K (i) (

1T (BR%E) (

lem™) =1lcm™
1K)kp/hc = 6.950348 x 10~ cm ™!
1 T)ug/hc = 4.668645 x 10~ cm™!

K ~O#H
1J (Z3xL%F-) (13)/kg = 7.242970 x 102K
leV (Z3L¥-—) (1eV)/ks = 1.160452 x 10* K
1kg (E&) (1kg)c?/ks = 6.509657 x 10*° K
1Hz (EHEEO (1Hz)h/kp = 4.799243 x 107 K
lem™ =10°m™" (%K) (lem™')he/kp = 1.438777TK
1K (HshiE ) (1K) =1K
1T (REREE) (1T)pus/ks = 6.717138 x 107 ' K
T N
1J (Z3LF-) 1J)/up = 1.078282 x 10* T
leV (T3 L¥—) 1eV)/up = 1.727599 x 10* T

(
(
1kg (&) (1kg)c?/us = 9.691117 x 10*° T
1Hz (EEED (1Hz)h/,u13 =7.144774 x 1071 T
Tem ' =10°m™! (EH) (lem Yhe/ps =2.141949T

1K GhtsehiLzs) (1K)/up = 1.488729 T

1T (RERERE) (1T)=1T
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